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Section A: (16 x 2 marks)

For each question, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval {1, 2, 3 or 4) on the Optical
Answer Sheet.

1.

The value of the digit 4 in 64 312 is

(1) 40
(2) 400
(3) 4000

(4) 40000

Which of the followirig hasg-af #fie figure shaded?

41 {enths and 15 hundredths is the same as

1) 0425
() 0.560
(3) 4115
(4)  4.250

How many oné-ei'_ghths are there altogether in 3 wholes?

' 3
) 15
1
@ 35
3 8
4) 24




Write 12% as a decimal.

M
2
(3)
4

12.36
12.312
12.25.
12:036

' 49
Find the sum of 99: 8 and120—— ‘Round off the answer to the nearest tenth.

(M
(2
3

@

1000

219.0
2198
219.9
220.0

Kenneth sold some packets of sweefs and . checolates. at a funfair. Each
packet contained 6 sweéts and 2 baing - 6F. chotelates. ‘How imany sweets did
he seltif he had:sold 102 bars of chocolatés?

(1)
(2)
3)
(4)

13
17
57
306

Jovan started to paint his bedrgom at 10 35. He took 7 h 35 min to complete
the painting. At what time did he finish painting hig-bedroom?

(1
(2)
(3)
(4)

6.10 a.m.
8.10 a.m.
6.10 p-m.
8.10 p.m.



9.

10.

11.

In the figure, PQRS is a rectangle. Find the difference between Zaand /£ b.

P Q
54°
b i8
_720
a
S R
(1 50°
{2y 76°
(3) 86°
{4) 94°

Which of the following are common factors of 27 and 547

(1) 28nd3
(2) 3and8
(3) 3and9
499 6and9

What is the value of the digit ‘8 in the product of 12.08 and 7 7

() SBiens

{2) _8onhes

{3) 8tenths

@) 8 hundredths




A piece of cloth is 16.8m long. it is cut into 2 pieces. The longer piece is 1.3m
longer than the shorter piece. What is-the 1ength of the sherer piece of cloth?

(1) 15.50m
(2) - 840m
(3 7.75m
(4 7.70m

Which of the following figures has-perpendicular Iinea-:‘,?

@)

pAe
=
o
i

Kumar and Samuel shared the costof a presént for their friend. Kumar paid

g of the cost of the present. Samuel paid 't-he remaining $24. What was the

cost of the present?

(1) $18
@ $42
(3) $32
4 $96



156. _.The figure below is mad

16.

rectangle is twice of its brea

perimeter of the figure.

M
()
(3)
4

18 cm
48 cm
54 cm
72.cm

e up of identical rectangles. The length of
dth. The area of the figure is 108 cm’. Find the

L = ———

TR L

each

Jackson has $30 worth of stamips. Half of-the-stamps dre-$1 stamps.. The rest
of the stamips-are 50¢ stamps. and 20¢ stainps. He has $8 werfh of 50¢
stamips and $1 worth of 20¢ sfamps. Hew many stamps. does Jackson have

altogether?:
(1) 18
@2 21
(3 36
@ 42
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SECTION B: { 20 X 2 marks)

Wirite your answers in the blanks provided. Show your working clearly. Leave your
answers in the units stated. :

47.  Write the missing number in the number paltern below.

4649 , 4499 , 4349 , , 4049

“Ans:

18. What is the value of —:—+% ?

Express your answer as a mixed number.

Ans:

19, R@undoﬁi@"‘éﬁ@ﬂ:@{he nearest hundred.

Ans:

SEY




20. 5908+7= . Do n¢

write
this s

Ans:

21. The capaeity of & boltle is 1.24 ¢ . The capacity of a flask is twice the eapacity
of the botile. VWhat is the total capacity of 3 such bottles and 2 such flasks?

Ans : Fd

22 Find-the value of 0.58 x 7.

Ans :

23.  Reslindactook a flight fresr:Singapéreto Japan: When:itis 6694 in Siigapore,
it.i5:07 00 in Japan. Theflight was 6 hours 45 minutes long. Vhen Roslinda
tanded in Japan, the cloek in the airpert showed 12 15. What was thie time in
Singapore when Roslinda’s flight departed? Express your. answeér using the
24-h clock.

Ans :




24.  The table below shows the survey results of a group 235 Primary 4 pupils on
the number of times they exercise in a week.

No. of times pupils exercise in a 0 1 2 3 4

week

No. of pupils , 37 | 48 | 82 | 37 | 31
i} Find the number of pupild wheo exercise atleastwice:aweek,

i) Whigt fraction of the total nusber of pupils exevcise less than twice a
week? Ledve your aniswer in the simplest form.

“Ans : i)

Ans :ii)_.

25, Express 0.6 as a fraction.

Ans .

26.  Ganesh is facing the canteen. He turns 135° anti-clockwise and then turns 90°
clockwise. Where is he facing now?

Sord \@:an - Ceheral
Dental Ganesh [———— Library
Clinic ‘

Canteen Hall

‘F?'arade Square

Ans

Do
writ
this




27.

28.

“The line graph below shows the distance Katie cycled for a particular week.

E
£
"4
£
L :
c
s
2 8
()
0
Mon Tye ‘Wed Thu Fri Sat - Sun
1) How many days did Katie cycle for more than 10 km bu‘trless than
20 km?
i)  Find the total distance Katie had cycled.
Ans 1)
Ans : i) km

In the figure, name the two angles.that are greater than 90°

-3

Ans: £ and 2

Do
wril
this

i



29.

30.

31.

. ) 1
Which two of the fractions below are smaller than > ?

S
11

W
HN

Ans: - and

What is the difference-betiveen 129 hundredths and 23 thousandths? Round
off your answer tg 2 decimal places.

Ané :

The following is a symmetric figure. Draw a line to show the line of symmetry.

o=




32.

33

34.

Arrange the following numbers in order from the greatest to smallest.

0.079, 0.709, '0.907

[

_Ans:_ , .
(greatest) ' (smiatlest)

The diagram bélow shows 4 different unit shapes.
Which of the unit shape(s} can be tessellated ?

—Shape A ShageB | ShapeC Shape D

Ans :

Raja dreve from Singapore to Malacca. He drove for 2:11-h and arrived at his

destination at 19 05. At what time did he leave Singapere? Leave your
answerin 12-h.cleck.

Ans :

Dor
write
this .




395.

'36.

The figure is made of 2 identical rectangles, P and Q, and square R, Each
rectangie hias a perimeter of 48cm. The length of the rectangle is twice of its
breadth. Find the area of the figure.

Ans: Gm

Every day, during lunchtime, Nelson and Benson will deliver 240, packets 'of

lanchbox 16 the' Sweet Home estate’s residents. For every !9-.:Paékéi-s~.@f-_ltiﬂeh;

box delivered By Nelson, Benson will deliver 2 mere patKets ihan he dees.
How many 'packets of lunch box are delivered by Benson every day?

Ans :

e




SECTION C: (28 marks)

Solve the following problems. All mathematical working and statements must be
shown clearly.

37. The prices of two sizes of vases at a shop are shown below.

g

Small vase - $17

Large vase - $23

Michelle bought an equal numbes of small vases and large vases. She spent
$120 altogether. How many vases did she buy-in-ali?

Ans: | {3)
38 IE'O'Eifob‘é.r?‘, Jeremy spent-$390 on foed which was %'-of“his ‘salary. He gave

his parents’ g of his salary. He spent half of the remaining fnoney on transport

and saved the other half. How much money did he save?

Ans : {3)

Do
wit
this

5



39.

40,

Gopal bought 2 sacks of rice that weighs 13 kg each. He repacked the rice
into 8 equal bags and sold thern

(b) !f Gopal sold ali the bags of rice at $6.45 each, how much money
wald he receive in ail?

Ans : (a) _ 2)

Ans : (b) {1)

BGin wanted: o7 Bay A new #leclic piano which cost $3760 She has been |
saving for half @ year but she is still short of $2350. If she. saved.an: eqnai-
am@unt of"'_ j whai is the 1east number of: manths shesyiegds

Ans : ' (3)

10




41.

The figure below shows the floor plan of the music room in Kidz Playhouse.
There are two identical platforms in the room. The shaded part of the. ﬂoor
was covered with carpet. Find the cost of carpeting the room if every tm” of

carpet cost $7.

waoyyeld

Ans: . : {4)

i1

D
WI
thi

kK




42.  Ashton bought some metal wire for his art project. He used ;?2— of it to make a

decorative item and gave 184 cm of it to Melvin. Then he had ?1— of the metal

wire left. What was the length of the metal wire that Ashton bought?

Ans: “4)

12




43.

A supermarket is having.a sale on $2-chocolate bars. The price during the-

3
sale was 3 of the price before the sale.

a} Hew much is one chocolate bar selling-at now? -

. B} How much walld Louis save if he beught & pieces of chiocafate bars |

Ans : (@) {2
Ans : (b) . (@)

13

Dc
wri

- it

¥




44,

Aloysius. is building a wall with some bricks. He arranges the bricks in a
pattern as shown below.

Layer 22—

Layee t——%

4} Hthe walt is made up of 10 layers of bricks, how many bricks will he need

altogether?,

b} 1F e uses 78 brieks, how many layers of bricks will there be altogether?

Ans : (a) (3)

Ans: (h) (1)

14

Donr
write
this ¢




Answer

EXAM PAPER 2012

SCHOOL : CHD -
SUBJECT: PRIMARY 4 MATHEMATICS

TERM : SA2

01 [ Q2] 3[04/ Q5][ 06 Q7 | 08 Q9 | Q10[Qi1]012]013] 014 Q15] Q16
3|14 413 |2 |4 3 |1 {3113 ]2 14]2]a

17)4349 — 150 = 4199
4049 + 150 = 4199

18)5/8 +34 =5/8+ 6/8
=11/8 = 138

19)43549 ~ 43500
20)5908=7 = 844
21)1.24 x 7 = 8.68

22)0.58 x 7 = 4.06

23) .
0.43 1036 1100 1115
Singapore ’ ~ 6h . 30min [15min|
{ .- — i 1 1
Japan 0530 1130 1200 1215 .
Ans: 0430

24)i)82 + 37 + 31 = 150
ii)150 = 48 + 37 = 235
857235~ exerdse less than twice a week
857235+5 = 17147

Page 1to 4 page 1



Answer Key


25)0.6 = 6/10
26)Parade Square
27)i)Wed, Tues->2 days
N8 + 16 =24
18+22=40
20+24=44
44+40+24+10 = 84 + 34 = 118km
28)<band ~d
29)3/8 and 5/11

30)129/100—23/1000 = 1.29 + 0.023
=1.267 =~ 1.27 )

N PAVPA

32)0.907, 0.709, 0.079
33)Shape B and C
34)4.50p.m.

35)48--2= 24->one length and breadth
2453=8
8x2=16
16x8=128
128x 2 = 256
8x8=64
256 +64 = 320cm2

Page 2




36)24+9 +2=20

240-20=12
9+2=11
12x11 =132
37) No |small Vase| Llarge Vase Total chech
5 [5x$17 5x$3=4$115 [$115+3$85 | X
=485 = $200
(3) I3x%$17 |3x3$23=%69 |%$69+$51 4
=$%51 =$120
17 =23 =40
120:-40=3
Ix2=6
She bought 6 vases in all.
> ~— ~ g
Food salary transport
1/3x3=3/9
$390 >3u
$3!_30+3 = $130->1u
Save>1u
He save $130

39)a)13kg x 2 = 26kg
26kg=8 = 3.25kg
The mass of each bag of rice is 3.25kg
b)$6.45 x 8 = $51.60
Hw received $51.60

40)$3760 - $2350 = $1410
$1410< 6 =$235
$2350<$235 = 10
She needs 10 months to get the electric

Page 3



41)3+3=6
6x3=18
18x2=36 "
20x9 =180 -
180-36=144
144 x 7 = 1008
The cost of carpeting the room is $1008

42)

A vy

Decorative jtém 184 left

184->4u

1844 = 46 (1u)

46 x12 = 552 (12u) ,
The length of the metal wire Ashton bought is 552cm

43)a)$2 -5 = $.040
$0.40x 3 = $1.20
It is seiling at $1.20

b)$2x9 =418
9 x $1.20 = $10.80
$18 — $10.80 = $7.20
Louis would save $7.20

+?+1f)

44)a)L +24+3+4+ 5+ 6+ 7 +
prasrqsy:

L o0

!
|

11

11x5 =55
He will need 55 hricks

b)Pattern 11 12
Bricks 66 78

+11 312

There will be 12 fayers
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